EARAZROREIERT — 2 N—XBISY —F 2016568 30H (A) 6[EIFIRISH

m 3mlbEC4—5 C4 5% (xwlw | lmEmml - |5 ) 0w 8
[AE4] 1 %:200,000  ~ 237 :40,000  ~ 37#%&:30,000H ~ 47:20,0008 53 :10,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e = : - - BFa (e
: 3| UT—FF15> i3 ?é%@& 1.(0_2).7 4-5 37.8 1 474 ;mu;;gilt]aumL>
Rix{yamE—S— BT KTFq T ) gmayn vy—r
> i3 | WARKAHE 1:02.8 3-1 3.1 — 2 478 | BHEE (LiEE)
2 6| ¥E—X a51.0 (1/2) @) | B T’*ftﬂg
Qg4 FS 0 ML BiALTFRS Y b ]
s SEEE : - — EAEKE (dteE)
alsls|7s—Fare- 3 | P 1.(043).7 44 38.8 4 :?i) I ZE]
RiTA—F4FAF—ZF> BivI—v(—> &11455
5= BiAsA : — = FORE (AtisE)
N AESZEEY 12 | B 1.&4).5 6-6 39.1 7 (4_628) ﬂ}_g% Bl
Rix>IAMA— B:TSALI> Y- REB
; Py K T 5] 04, - o] - BBE— ()
N . NESEEEEL "3 gk RO L <
R:8Z/XLLy b BTy RNZS ASXEHRS
. L, = I\t -05. = 8| — EARBHE (LmE)
61111 |NvE—HFLZ i g 36.0 1(045)3 - “0.8 ° ?_4; KA 5
R:IXXYR b BAYRLTY— Tr—I UV FEL
X R — . _ _ AlISHE (mn)
; NEESE * 4 | BT 1.85>.5 6-6 40.1 6 3222) i) B
L7 Rvq4¥ay—-> B:vELTIC TJ7=Z—klNT7—L
® I —F—EBIERL
13—7—
230—7F—
ga=7r= (1,4),6,(3,5),(2,7)
40 —F— (1,4,6),5,3,(2,7)
o HREE
H OB 3 160M 714K 3-6 150 B = 3-6 270M RPEL:] 3-5-6 6304
8 B 3 130 85 200 B H 3-6 410 K31 3-6-5 1,760
6 120M 5-6 330M

ABICOVWTRDTEEERROODE. TR LIV,



